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Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52

Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895941
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The errors that can be pointed out by the compiler are:
Options :

1. ¥ syntax errors

2. % semantic errors

3. % logical errors

4. * run time errors

Question Number : 1 Question Id : 2549896597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FIRER gRI SR TR FHgard gl
Options :

1. ¢ Rt TR

2. % JfRP TR

3. % QifSed (dIfdhd) TR

4, % T TRATR

Question Number : 2 Question Id : 2549897119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to the basic PC keyboard, the ‘Break’ key is shared with the key.
Options :

1. ¥ pause

2. * insert

3. % home

4. % end

Question Number : 2 Question Id : 2549897119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T FR & IRF Bl-a18 & Ye o, 96 Bt (key) BT DI (key) P 1Y TN fHaT ST B
Options :

1. ¥ Ui

2. % 39C

3. % gW

4. % TS
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Question Number : 3 Question Id : 2549897321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
translates the commands entered by the user and converts them into a language that is understood by the kernel in UNIX.
Options :
1. # Kernel
2. % System library
3. ¥ Shell
4. # Compilers

Question Number : 3 Question Id : 2549897321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IO GRT TR BT Y SMTCRI BT SHTATE PIAVBRA & 3R S 31 HIHISH H FUTART PRAVBRA & Sl UNIX H Hoid gRT
BEEISIGIE]
Options :
1. % B
2. % cH agskt
3. R
4. % HIZAY

Question Number : 4 Question Id : 2549897570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following types of monitor is most commonly used with portable computers?
Options :

1. # Cathode Ray Tube

2. % Power capacitor

3. % Flat—panel displays

4. ® Data projector

Question Number : 4 Question Id : 2549897570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o HiTeR 1 UG Ui el weR] & oY e e b el &2
Options :

1. ® FASI

2. % IR HURIR

3. ¢ Tle O Foeat

4. % TSI

Question Number : 5 Question Id : 2549897649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The CPU, motherboard and RAM are components of a computer hardware system.
Options :

1. # input device

2. % output device

3. % internal

4. % gecondary storage device

Question Number : 5 Question Id : 2549897649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

iy, AeRaS 3R Y HHCR FEamR Ried & UeH gl
Options :

1. % 3qYC f&arzy

2. % 313cyc fearsy

3. ¢ 3fidRe®

4. % fgdigs TR fearsy

Question Number : 6 Question Id : 25498911718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following services of the Internet is used to send short messages and allows them to be read in real time, enabling users to
converse quickly and easily?

Options :

1. ¢ Chat and instant messaging
2. % Usenet

3. # Email

4. % Blog

Question Number : 6 Question Id : 25498911718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gexie 3 g 9 g Ja1 31 ST e A7 oM & ot b ST 8 9k I8 S8 Raa-crsd # 1S - &1 Sfgdfd <afl e,
for) goR wied! 3R ST ¥ Seid BR g &2

Options :

1. ¢ I¢ 3R $¥e Yl

2. % goie

3. % $.0d

4. % AN

Question Number : 7 Question Id : 25498912977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to open Credential Backup and Restore Wizard in Windows 8?
Options :

1. # sysrdisc

2. % recdisc

3. % credwiz

4. % credreswiz

Question Number : 7 Question Id : 25498912977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows 8 H 98 RIId 98310 3R RER IS Tie & o forw FHts o1 SudiT o STl g2
Options :

1. # sysrdisc

2. % recdisc

3. % credwiz

4. % credreswiz

Question Number : 8 Question Id : 25498929963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
A/An device is a security identification and authentication device.
Options :
1. % automatic
2. % audiometric
3. ¥ biometric

4. * video metric

Question Number : 8 Question Id : 25498929963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IS U GR&T UG 3R FHTONGHROT JUHRUT & |
Options :
1. % ficafes
2 ® SffSaiRe
3. ¢ SHich
4, % fofeamfcs

~

Question Number : 9 Question Id : 25498930215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In general a Blu-ray high definition disk has resolution.
Options :

1. # 520 x 380 pixels

2. % 1920 x 1080 pixels

3. % 2016 x 1080 pixels

4. % 3804 x 2106 pixel

Question Number : 9 Question Id : 25498930215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

X BT b fewe &1 Relegg= qrra: fadn gidr 82
Options :

1. % 520 x 380 fUeq@

2. ¥ 1920 x 1080 fURTA

3. % 2016 x 1080 U@

4. % 3804 x 2106 [UFTd

Question Number : 10 Question Id : 25498930640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following computer parts displays video, images, text and the results of the work done?
Options :

1. % Monitor

2. # RAM

3. % Keyboard

4. ¥ ROM

Question Number : 10 Question Id : 25498930640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HUIER BT B T HIT ST, o, Tae quT b T 710 ol & afkoma ) uefRiq #ar 32
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Options :
1. ¢ HIFR
2. ¥ RAM
3. % Blae

4. ¥ ROM

Question Number : 11 Question Id : 25498930706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following was NOT one of the early 'protocols' or ways to use the internet?
Options :

1. # Telnet

2. # FTP

3. ¥ Blogging

4. % Gopher

Question Number : 11 Question Id : 25498930706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafifad & o 91 3Ry & ge1e BT SUGNT B & b a1 Hidieier § J T 7Y 82
Options :

1. % ¢ee

2. % FTP

3. & SAMAT

4. % MH

Question Number : 12 Question Id : 25498930959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
LCD stands for:

Options :

1. # Logical Crystalline Display

2. ® Liquid Crystalline Display

3. # Logical Crystal Display

4. ¢ Liquid Crystal Display

Question Number : 12 Question Id : 25498930959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

LCD (TERitEh) P quiRey &1 82

Options :

1. ® difoopd ERWGIES 553 (Logical Crystalline Display)
2. % fofe s fobeeare f$¥@ (Liquid Crystalline Display)

3. ® Qi d fsheed fowal (Logical Crystal Display)

4. ¢ foifde freed fewa (Liquid Crystal Display)

Question Number : 13 Question Id : 25498933208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the appropriate option using sign-2's complement representation.

(-O)+(-13)=__
Options :
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1. ¥ 11101101
2. % 11101111
3. % 10101111
4. % 11101011

Question Number : 13 Question Id : 25498933208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fog-2's BIcite RUSIeRH &1 IUART SR §U I fadhed & a1y - Rad ®i &1 gfd sifoe|

0)+(¢13)=__
Options :

1. % 11101101

2. % 11101111

3. % 10101111

4. % 11101011

Question Number : 14 Question Id : 25498933727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following interactions refers to the application of Information and Communications Technology to reorganise the
governmental processes involved in the functioning of government entities as well as to increase the flow of information and services
within and between different entities?

Options :

1. # Government to Business

2. % Government to Citizens

3. % Government to Government

4. % Government to Employees

Question Number : 14 Question Id : 25498933727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafad o 9 HF I sr:foran WReR TU1ef & HHwT § M RERT Ufgrarsit &) gifed & & Iry-ary fafie dwrsit
& IR SR 37 i YT 3TR arefl & YaTe &l g & fog JaT1 3R HaR WelfiIb! & ST &l Haftid Bl 5?2
Options :

1. % WPR I JaAq™d

2. % WHR I ARG

3. ¥ WHR I WMDHR

4. % PR Y HHART

Question Number : 15 Question Id : 25498933814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to process management, the data stored in the register is visible only to that
Options :

1. % grid

2. % block

3. ¥ thread

4. % section

Question Number : 15 Question Id : 25498933814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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g A-erc & Jed AR A ¥R ST daasy_ AfeEarg|
Options :
1. % g
2. % slb
3.V U8
4. % Ja-H

Question Number : 16 Question Id : 2549896973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A(n) is composed of several computers connected together to share resources and data.
Options :

1. # peripheral

2. ¥ network

3. # backbone

4. ¥ hyperlink

Question Number : 16 Question Id : 2549896973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i T SR STT P TR B & 7T T Y S s dHR A S 5
Options :

1. % W(peripheral)

2. ¥ AeTh

3. % 9Ha

4. % GRRIAD

Question Number : 17 Question Id : 2549897341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
file format is used as installer extension while installing windows.
Options :
1. ® .msm
2. % msp
3. % msi

4. % mst

Question Number : 17 Question Id : 2549897341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fSie S%erd Hed wHa BTSd BIHC BT ITUN SR THRICTH & w0 H PRl 5
Options :

1. # msm

2. % msp
3. % msi
4. %

.mst

Question Number : 18 Question Id : 2549897775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The acronym DBMS stands for:
Options :
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1. % Data Basic Management System
2. % Dataset Base Management System
3. ¥ Data Byte Management System

4. ¢ Database Management System

Question Number : 18 Question Id : 2549897775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DBMS BT QU @0 ®I

Options :

1. * 31 I Beie Ren (Data Basic Management System)
2. % Sede 99 HAviHc ey (Dataset Base Management System)
3. ® TSRS Tee Ren (Data Byte Management System)

4. ¢ T TAoe Ren (Database Management System)

Question Number : 19 Question Id : 2549898204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
topology uses hub.

Options :

1. * Bus

2. % Star

3. % Point-to-Point

4. % Ring

Question Number : 19 Question Id : 2549898204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
il g9 T ST Bl 8|
Options :

1. % 9H

2. ¥ &R

3. % Uige-guige

4. % far

Question Number : 20 Question Id : 2549898364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
identifies your computer's hardware, configures it, tests it, and connects it to the operating system for further instruction.
Options :
1. # BIOS
2. % Windows
3. % Linux
4. % Android

Question Number : 20 Question Id : 2549898364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3{T0P LR b GTSATR P! Ud PRl 7, I PIPTR BT §, TUDBT TRIE0T BT § 3R 3T P A (instruction) & 1T
=9 TR Ren A Sisar gl

Options :

1. ¥ BIOS
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2. % faSIa
3. % forey
4. % Tglss

Question Number : 21 Question Id : 2549899425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options best describes the speed of the Dot Matrix Printer?
Options :

1. # characters per hour

2. % characters per second

3. % lines per minute

4. % words per minute

Question Number : 21 Question Id : 2549899425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafed 3 @ o a1 fdwe Sic Afcad fiex &1 71 &7 9a 38T JuH ol 52
Options :

1. % 3&R U b H

2. ¢ &R U Yhs H

3. % e gfd e

4. % Teq Yfd e o

Question Number : 22 Question Id : 2549899560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which command is used to print the documents?
Options :

1. ¥ Ctrl+P

2. % Ctrl+S

3. % Cul+X

4, % Ctrl+V

Question Number : 22 Question Id : 2549899560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR & fife A & e fore swate 1 ST fasan ST 82
Options :

1. ¥ Ctrl+P

2. % Ctrl+S

3. % Cul+X

4. % Ctrl+V

Question Number : 23 Question Id : 25498910804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which type of printer, paper is often fed through pins or wheels that grab and slowly move paper through printer?
Options :

1. % Dot-matrix printer

2. % Laser jet printer

3. % Inkjet printer

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 10/39
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4. % 3D printer

Question Number : 23 Question Id : 25498910804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5T UpR & fifex H O & 3R o o1 i & H1eqH T WIS foodn Srar 8 S fifex & Hiead @ STl ol $R-49R & §rd 82
Options :

1. ¢ Sl Afeay fifer

2. % QoR vie fieR

3. % gpvic fIR

4. % 3p IR

Question Number : 24 Question Id : 25498911100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you save your photo using webcam in a Windows 10, where does it get saved?
Options :

1. ¢ Pictures > Camera Roll

2. % My Documents

3. % Recycle Bin

4. % My Downloads

Question Number : 24 Question Id : 25498911100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I 31T fISIS 10 B BT BT SUART b U+ el Ud HRd 5, Il T8 Bl Ud ol oIl 5?2
Options :

1. ¥ Pictures > Camera Roll m > BT Q)fa)

2. % My Documents (ﬂmgﬁlﬂa@)

3. # Recycle Bin (W %:f)

4. % My Downloads (HIT Sﬁ?ﬁm

Question Number : 25 Question Id : 25498913365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
______has the highest storage capacity.
Options :

1. #* Floppy Disk

2. % CD

3. % Blue Ray Disk

4. % DVD

Question Number : 25 Question Id : 25498913365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B YSRU & (KR HURIE) Tl e gt 71

Options :

1. % g fexm
2. % I8t (cD)

3. ¢ X e

4. % idISt (DVD)
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Question Number : 26 Question Id : 25498913774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is NOT a type of Cryptographic Algorithm?
Options :

1. # Secret Key Algorithm

2. % Public Key Algorithm

3. ¥ Hash function

4. ¢ Popular key Algorithm

Question Number : 26 Question Id : 25498913774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofifed & 3 31 U@ fhgrhe Sy &1 IR 81 82
Options :

1. % Rehe Bl TRTRYH

2. % Ui I TeNRYA

3. % BRI AR

4. v igerR Y T

Question Number : 27 Question Id : 25498913912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IP address is divided in two parts as:
Options :

1. % Network ID and Memory ID

2. % Network ID and Host ID

3. % Host ID and Device ID

4. % Device ID and Location ID

Question Number : 27 Question Id : 25498913912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IP USY &1 & U H ford TR sifeT T 82
Options :

1. % g 3MES! (ID) 3R AHRY St (ID)

2. ¢ Jegd 3R] (ID) 3R BIRE 3MTs 8! (ID)

3. % BRE TSl (ID) 3R fEasy 3ME e (ID)

4. * fEagY MMEST (ID) 3R AHIA 3MSST (ID)

Question Number : 28 Question Id : 25498918594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows 7 and other versions have improved features. Which of the following features of Windows OS allows you to encrypt full
storage?

Options :

1. % IPSec

2.+ BitLocker

3. # EFS (Encrypted File System)

4. % RMS (Rights Management System)

Question Number : 28 Question Id : 25498918594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Windows 7 ﬁﬁm%wﬁﬁmgﬁm%l Windows OS ﬁﬁaﬁ@rﬁ?@gﬁwaﬂmtﬁfwaﬁmmﬁ
P gfaer et 82

Options :

1. % IPSec

2. % BitLocker

3. % EFS (Up0S Wigd RieH)

4. % RMS (T3cH BAete Rem)

Question Number : 29 Question Id : 25498924296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Multitasking operating system allows:

Options :

1. # Only two programs running concurrently

2. % More than one program running concurrently
3. # One program running at a time

4. % Two programs running separately

Question Number : 29 Question Id : 25498924296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HecTeTRbT iTRfeT Reed B! 3gAfd AT R
Options :

1. % Shad &l UIITH Teb A1 Tl

2. ¥ U Y T ¥ 3P URIH I

3. % o Y H T 1 UHITH el

4. % 3[CTT-3(CMT Gl UHITH el

Question Number : 30 Question Id : 25498924980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is used to ease the probabilities of network failure by connecting all of the systems to a central node.
Options :
1. ¢ Star topology
2. # Ring topology
3. % Bus topology
4. % Point-to-Point topology

Question Number : 30 Question Id : 25498924980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1 ITANT G2t Rt 31 U Heid 1S ¥ HedR Aca [ahad! b SIS B 1 A & g i s g1
Options :
1. ¢ ER IOl
2. % f@r CIgrarel
3. % gy gl

Question Number : 31 Question Id : 2549896391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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With respect to the internet, ISP stands for
Options :
1. # Internal Service Plan
2. # Internet Service Plan
3. # Integral Service Provider

4. % Internet Service Provider

Question Number : 31 Question Id : 2549896391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e & YU | ISP HT QU & 1 82

Options :

1. % $ed YA WM (Internal Service Plan)

2. % goxAC Iidg @ (Internet Service Plan)

3. % '-:;C“I‘/{ﬂ ﬂﬁﬂ Yldig S (Integral Service Provider)
4. ¢ eI [fAY UIATSSR (Internet Service Provider)

Question Number : 32 Question Id : 2549896719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following typically appears as underlined and/or coloured text or images with reference to Web?
Options :

1. ¥ Top-level domain names

2. % Applets

3. ¥ Hyperlinks

4. % Protocols

Question Number : 32 Question Id : 2549896719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 % Tl A P B 3 o wrr: 3reRfRd SR i Ure-amht siv/an Bfad & wu & fewars ar g
Options :

1. % TlU-ciael SIH AH

2. % Uwicy

3. ¥ BRWIde

4. % Yicrobled

Question Number : 33 Question Id : 2549897166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a multilingual internet based dictionary which you can edit.
Options :
1. ¥ Wiktionary
2. ¥ WikiNet
3. # Wikipedia
4. % Netlingual

Question Number : 33 Question Id : 2549897166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS TgHTS ST SHTUTRE UsAH1R § o ST JUTfed F% ol & |

Options :
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1. ¢ fqamRy
2. % fafee
3. % fafepdifean
4. % efsrd

Question Number : 34 Question Id : 2549897414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By using which tab can you add page numbers in an MS-Word 2019 document?
Options :

1. % Edit

2. # Format

3. ¢ Insert

4. % Home

Question Number : 34 Question Id : 2549897414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 & STagHe T J§ TReAT STa- & forg fod ¢d o1 IuanT fava oirar 82
Options :

1. % Tfse

2. % BiHc

3. ¢ 3¢

4.% g

Question Number : 35 Question Id : 2549897872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If your laptop has been infected by a malware after you clicked on an online advertisement, then you are a victim of which of the
following social engineering attacks?

Options :

1. # phishing

2. ¥ patching

3. % malvertising
4. % exploit

Question Number : 35 Question Id : 2549897872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AUy gR1 forlt Sfferms faRTue IR e 3 ¥ afe 3MMueT dueiy HadeR ¥ UHTTAd 81 STl 5, df omd Fafafed & 9 feg
IR SR gHe BT RIGR U 82

Options :

1. % fopfRim

2. % Tff

3. ¢ HAGRCIZIST

4. % THI@ISC

Question Number : 36 Question Id : 2549898123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements related to radar chart in MS Excel 2019 is INCORRECT?
Options :
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1. % This chart compares the aggregate values of several data series.
2. % This chart displays the changes in the values relative to a centre point.
3. % This chart shows the relationship of the parts to a whole.

4. % In a filled radar chart, the area covered by a data series is filled with a colour.

Question Number : 36 Question Id : 2549898123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2019 ¥ T8R 91¢ & Y&t & D1 T HU TAd o2

Options :

1. % gg AIE 31 B Ps YA & Ho ! Bt a1 PRl g |

2. % g AIC dg foig & ATUE A & IRad &1 UG Rid Hrar 5|

3. ¢ g 91 Quf YT & 3= YT & Tefel Pl e Bl g |

4. % U W GUISR AIC W, 3T 4T F TSI &F DY 1T F HRT STl 3|

Question Number : 37 Question Id : 25498910534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If there is a text in your document, MS-Word reshapes it to fit the page. Say you change a ten-page document from letter size to the
longer legal-size page. MS-Word spreads out your text over the extra space and you will have fewer pages overall.

The given action can be performed with the help of
Options :

1. ¥ Layout — Size

2. % Layout — Margin

3. % Layout — Orientation

4. % Layout — Breaks

Question Number : 37 Question Id : 25498910534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I 311U SiagHe H TRE 8, A MS Word 8 &I i oA & folt 39 G: SR ST 81 T1F o b 3117 9-U1 a1e) STagie &l deR
gﬁwﬁﬁém-wsm U9 H S¢ald B 1 MS Word 3T ToRe &1 3ifRad RIM IR i g, 3R 3% U $d $H I $H U3
|
IR HRATS D1 Aeg I B o bl |
Options :
1. ¥ TSM3C — IS
2. ® a\?"mamﬁh
3. % Q3T — HINTSHA
4. % TIIT — I

Question Number : 38 Question Id : 25498910554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the setting used for most single-sided documents while adjusting the margins in page layout in MS-Word 2007.
Options :
1. ¥ Normal
2. % Book fold
3. % 2 pages per sheet

4. % Mirror margins

Question Number : 38 Question Id : 25498910554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word 2007 &, TS @-3113¢ & HIfol $1 TSoe FRd THY, U6 W15 aTd SIagiey & qHmd: AT &1 U fpan
EIGIE
Options :
1. ¢ Frdad
2. % g DI
3. % 2 U Ufd e
4. % R AR

Question Number : 39 Question Id : 25498910605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default line spacing in MS-Word 2019?
Options :

1. %1

2.% 15

3.9 1.15

4, % 2

Question Number : 39 Question Id : 25498910605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 &1 fSWhice ATe- TR &1 52
Options :

1. %1

2.% 15

3.9 1.15

4, % 2

Question Number : 40 Question Id : 25498910967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MIME allows the data to be sent through SMTP.
Options :

1. ¥ BCD

2. % ASCI

3. % non-ASCII

4. % redundant

Question Number : 40 Question Id : 25498910967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MIME, SMTP & HI&IH I T Yol @ Sl ST 8|
Options :

1. ¥ BCD

2. % ASCI

3. ¢ dAM-ASCII

4. % TgUgUe (3ffafad)

Question Number : 41 Question Id : 25498911441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 17/39



5/16/22, 3:36 PM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Correct Marks : 1 Wrong Marks : 0
In MS-Word 2010, Raghu has typed the word 'wednesday' which automatically got changed to 'Wednesday'. This can be achieved by

Options :

1. ¥ autocorrect
2. % auto capitalization
3. % auto check
4. % gpell check

Question Number : 41 Question Id : 25498911441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2010 & Y el ‘wednesday' QMo CISU foran %, N Epf 'Wednesday' " dad STdl %I QﬂT g JHq Eﬁ?ﬂ %I
Options :

1. ¢ 3ffcl e

2. % 3ffct BiteagerH

3. % 3ficddb

4. % WA b

Question Number : 42 Question Id : 25498911820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, in the context of text formatting, the line spacing setting 'double spacing' is line/s high.
Options :

1. # one

2. ¥ two

3. # three

4. % four

Question Number : 42 Question Id : 25498911820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 B BIH{eT & FeH & arg7 WRM AT sqa @WRIT a4 S RISR St gl g
Options :

1. % Up

2.4 A

3. % dH

4. % IR

Question Number : 43 Question Id : 25498911905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Given here are the steps to print an MS-Word 2016 document with all changes made to it. Fill the blank with the suitable option.

1. Click the Microsoft Office Button and then click Print.
2. In settings — Print all pages, under Document info, click

Options :

1. ¥ List of markup

2. # List of changes
3. % List of formatting
4. % List of tracking

Question Number : 43 Question Id : 25498911905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Fra MS Word 2016 & it STagiie o ford 7w @t srcamal afed Sfagie @1 fife HA & wRo1 99 U § | Suged fawed ¥ Rad
R B G B |

1. A3 T 3iTthy de IR fade & 3R fhr fife iR faas a3 |

2. A& B STagie T F 3iafd fife aifa 99w & forw R faeis B
Options :

1. ¢ fore 3ifs AT e

2. % foRe off 9

3. % fore ST B fem

4. % fore off ¢

Question Number : 44 Question Id : 25498911926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to digital signatures, which of the following ensures that the message content was not changed or tampered with since it was
digitally signed?

Options :

1. # Authentication

2. ¢ Integrity

3. ® Verification

4. % Non-repudiation

Question Number : 44 Question Id : 25498911926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fefired sxater & Taiy ¥, Fufafad & & o gg YRfdd o=ar ¢ i T el # ffved wu 3 gxaeid 89 & 918 4 Bis
SCdd U1 SSBTS T8l 63 /7

Options :

1. % 3fidfenyH
2. v SR

3. % IRHH
4. % T XgReTEA

Question Number : 45 Question Id : 25498913320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word 2019, which of the following options is not available under Home Tab?
Options :

1. # Font

2. ¥ Page Setup

3. # Styles

4. ¥ Paragraph

Question Number : 45 Question Id : 25498913320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 ﬁ, ﬁyﬁ@rﬁ?mﬁwmme Tab & &laﬁ?rm:@%‘?
Options :
1. % i<
2. ¥ U Je3M
3. % KA
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4, % TR

Question Number : 46 Question Id : 25498919150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following command group is placed at the left most side in the Mailing tab in MS-Word 20167
Options :

1. ¥ Create

2. # Start Mail Merge

3. % Write & insert fields

4. # Preview results

Question Number : 46 Question Id : 25498919150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 & AfeiT 2a & fRgfoiad & @ & 91 HHis g Ja a1¢ 3R 331 741 82
Options :

1. ¢ fbue

2. % W A Aol

3. % 32 TS 3 BIce

4. % g RSy

Question Number : 47 Question Id : 25498919224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you don't have an existing address list, then to create the new recipients list in the third step of Mail Merge process, the radio
button has to be enabled.

Options :

1. # Use an existing list

2. # Select the Outlook contacts
3. % Type a new list

4. % Import the list

Question Number : 47 Question Id : 25498919224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T 3T T HISGT UaT Gl 81 §, ol el 7ol UishdT & e aRU § A UTadebd el ot gt fohUe = & fort fore XfSal sed &t
A HAT MW

Options :

1. % HSEl gt &1 ITANT HY

2. % TICYD YUD! &I I

3. ¥ Ueb -1 Yl QU B

4. % A SIE B

Question Number : 48 Question Id : 25498919251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An email address consists of components.
Options :

1. * only user name

2. % only domain name

3. % user name and domain name
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4. % user name and system name

Question Number : 48 Question Id : 25498919251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HIAAUSHY  Uco WP e gl
Options :

1. % $ad goR"H

2. % $Had SHT AH

3. ¢ ToRAY 3R S8 A7

4. % oA 3R Rew A1

Question Number : 49 Question Id : 25498924871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to pivot tables in MS-Excel, if we drag a field to the Row Labels area and Column Labels area, we can create:
Options :

1. ¥ a two-dimensional pivot

2. % athree-dimensional pivot

3. % a one-dimensional pivot

4. % charts

Question Number : 49 Question Id : 25498924871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel @ fiae drferesT # afe g0 3 dad TRar iR Siad dad TRATH U6 Wi STIRA S, dIgd ST qHhd gl
Options :

1. ¢ fg-3mart fae qrferest

2. % f3-3arHt fuqe diferent

3. % T 3T fUge dferet

4. % 9ré

Question Number : 50 Question Id : 25498925513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Office 2010, when you open a clipboard and press the 'Options' button at the bottom of the pane, which of the following options is
NOT available?

Options :

1. % Show Office Clipboard Automatically

2. % Show Office Clipboard When CTRL + C Pressed Twice
3. % Show Office Clipboard Icon on Taskbar

4.« Show Status in Address Bar When Copying

Question Number : 50 Question Id : 25498925513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS office 2010 H S8 3T faTuaTs Tiad g 3R U9 & Jag e 3T §e R T &d g, af 981 9 # ¥ &9 91 fdbey
SUA Ta] Il 82

Options :

1. % d: g1 20 3t faeuels

2. % Ctl + C & &l IR q&M R A St fFusie’

3. % TRBHIR T =W SHhy fFauars' smead
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4. HIU P W TSH IR T R Weq

Question Number : 51 Question Id : 25498932143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are true with reference to Video conferencing?

(1) Video conferencing is a technology available at a very high cost.
(1) The stability and quality of video conference may fluctuate with the speed and reliability of the data connection.

Options :

1. % (ii) only

2. % (i) only

3. % Both (i) and (ii)
4. % Neither (i) nor (ii)

Question Number : 51 Question Id : 25498932143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST BRI b Fas # e & 1 914 YT I8l o/8 |

(i) FFSA BTIBRAT I AN TR IUTY B aTell dbiieb 2|

(if) ST HTHT B} o 3R FRRAT ST HAIRM S Jora 3R T & Fa1e 3 e-5¢ bt g1
Options :

1. ¢ 5Had (i)

2. % 6ad (i)

3. % (i) 3R (if) gFT

4. % T (i) IR T (ii)

Question Number : 52 Question Id : 25498934497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With , only a small part of the video file has to be downloaded before playback begins while streaming media from a web server
to a client such as a video player on a laptop or mobile phone.
Options :

1. ¥ progressive download
2. ¥ real-time streaming
3. # regular download

4. ¥ virtual time streaming

Question Number : 52 Question Id : 25498934497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 IR Y HIES I7 AU & Frge ok o f Hfea) wer wR Hifsar Lt & IRA wed T g 3 ugad grRIdItEar
B & Had Th DI U TW &l SIS HRAT ST 8|

Options :

1. ¢ YORE seae

2. ® {ga ergy Kt

3. % WeR S13dIS

4. % T3 TIH I

READING COMPREHENSION
Section Id : 2549895901
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Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895942
Question Shuffling Allowed : Yes

Question Id : 25498920881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Environmental Protection

A concern with the environment is imperative for us because we live from it; we live in it; and we live with it. By saying that 'we live
from it' is meant that it provides us the means to our livelihood. It is the source of raw materials for productive activities. So much so that
we mine its resources, cultivate and harvest its fruits shape the forms of the land for human habitation, to construct roads and dredge
rivers for transport.

“We live in it” means that the environment is not just a physical necessity for human life and activity; it is where we lead our daily lives.
Environment matters to us for social, aesthetic and cultural reasons. It is where our work-a-day life takes place and derives its
significance. It is where besides work we spend our leisure: walking, fishing, climbing, swimming, playing etc. Forests, beaches, rivers,
seas, mountains provide us the backdrop of these recreational activities.

We live with the environment. It existed before our arrival and shall outlast us on earth. It is given to us, we have not created it. We can
only respond to it by expressing a feeling of wonder towards it. Any loss of bio-diversity, the disappearance of particular habitats and the
extinction of particular species of plant and animal life is mourned for its own sake.

Indian thinkers and sages realise that the cause for environmental degradation is not need but greed. According to them natural desires
are satisfied easily; thirst by water, hunger by food. But the desire for possession is an artificial one; it goes on unceasingly and is never
fully satisfied. Man’s appetite for gold, for example, is never satisfied.

Human beings have imbalanced greedy minds and constantly strive to fulfil their desires by adopting right or wrong means. They forget
that ‘all things are connected’. The destruction of one leads to the destruction of the others. Therefore, it is imperative to respect
traditional wisdom along with modern eco-friendly practices and learn to live in sync with the environment.

Sub questions

Question Number : 53 Question Id : 25498920882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the passage, the phrase 'living from the environment' means that we are dependent on environmental resources
Options :

1. % for our livelihood, food and shelter.

2. % but do not give anything in return.

3. % for fulfilling our needs but are unconcerned about it.

4. % but nobody feels responsible for the environment.

Question Number : 54 Question Id : 25498920883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The environment has a recreational value for us because
Options :

1. # activities like mining, farming, or construction are enjoyable because they are outdoor activities.
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2. ¥ many of our outdoor leisure time activities are best enjoyed in the lap of nature.
3. ® it provides the backdrop for us, the actors, on world stage.

4. % the environment depends on us for its conservation.

Question Number : 55 Question Id : 25498920884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which sentence in the passage tells us that the environment is everlasting but we are NOT?
Options :

1. % The environment is a physical necessity for human life.

2. % Forests, beaches, rivers, mountains provide us great pleasure.

3. % The environment existed before our arrival and shall outlast us on earth.

4. % Indian sages and thinkers have always been concerned with nature.

Question Number : 56 Question Id : 25498920885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What, according to the author, is the difference between need and greed?
Options :

1. % Need can be fulfilled but greed is never satisfied.

2. % Drinking water when thirsty is need but denying oneself food is greed.
3. % Qur desire to buy unlimited jewellery or clothes is greed.

4. % Killing animals till they become extinct is an outcome of greed.

Question Number : 57 Question Id : 25498920886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which sentence best expresses the message of the passage?

Options :

1. ® Environment is an essential part of our life.

2. % Environment provides us with everything without expecting any return.

3. % We should try to live in harmony with environment because its destruction will ruin us.

4. % We have no right to exploit and destroy people all around us.

Question Id : 25498920881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

faQ 7T TN Y U 3R I SMUR WU & IR S
TgiaRuT TR&fUT

yafarur 3 forg fofar 1 gUR fo et 8 iifos 57 3uH ofifad 8d §; 81 399 T6d §; iR 81 9% WY I8 ¢ | I8 8 IR b
TH 3TN Sfdd ¥8d & o1 31 I8 § [ U8 g8 URY 3MTSiifaeT & T1eH UeH odl 8 | U8 IdTee Tfafafidl & fiw o= ard &1
T g1 31 ¢ o 81 39 e 7 g, Wl R 3R 3P Bl Bl HIed ; AHd fFHar & g Yt F S0 &l SMHR A |,
URae & T el 3R afea &1 fAufor &a g1

1 39H T8d & &1 31 3 fb yafavur arg Sfiaw oik nifafafy 3 forg Rk +ifaes smawaear 8t 161 §; U8 98 WM & Wigf )R gd
30 & St &1 fiard § | T, Aiaiard SR Wi fae HRUN 9, Tafavu gAR e Irem @l ¢ | I8 98 R § Sfgi
THART BB Sl diid BiaT & MR SHBT 30T Hed UK § | I8 I8 VI § STgl B1H & ATl 1 30T 3aeh1eT: Ia-T, A e
%m,aaém,w,@amaﬂ%aﬂﬁ%m,wm,m,w,m-eﬁﬁmnﬁﬁmﬁﬁqgﬁhmm
|
Y TUTaRUT & 1Y I8 & | T8 THR ST ¥ Usd 1R H U7 3R 32l IR g4 ¥ 31fers JHg dcb I | I8 g4 fear Tar 8, g9
T T61 ST € | BH 39 Ul Sy &Y HTaHT e IR SUBT IR ¢ Jabd ¢ | oa-fafdedr &1 IS e, favy Al &1 mae
BT 3R Urel T Uy Sfta bt AR gt 1 faqe 81, T 3ol & fore 2ies forar srar g1
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YReTg faaRe! iR Tdl = Teard far § fob qaiaruiig fikiae & RO &1 STawgehdl 6] § Uiq I8 amerd 2 | 375 IR
TTepTaieh 3BT T & T, HivH & 43 31t & O3 8 ofrelt ©; m@aﬁﬁwaﬁs@r?ﬁn% TG S B Ted! Fell ol 8 3R
Fift oft ot e & O T B 21 SareR & g, TN 3 fore Ty o o v g et e 2

Tt Sriqferd arerd fHmT 8 IR Teh a1 Tad T Y SUATHR T8 31U SBT131 Y RT = T YA T el & | 3 4
S & fb ot S ST 83 §' | U o o1 AT gkl o faAT=r 1 3R o STy ¢ | 39fery, 3nyfes yafaror srgd uursit & Yy
URURS T BT A HIAT 3R TafaR0r & 1Y T8 T 38T YRAT S g |

Sub questions

Question Number : 53 Question Id : 25498920882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3T ITUR TR0 § ofi ', e o7 3 § b 50 yafaror Saeei R AR €1

Options :

1. ¢ 3T 3MTefifaept, HISH 3R 3nyg & far|

2. % RgFed A oo M TR A gl

3. % 3O SRERd! Bl GRT R & o TR 59 IR H A B
4. % T3 YUIRUT & forg g +ff e Heqg T a2

Question Number : 54 Question Id : 25498920883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR 1 §AR fo Ao Jed § Fiifes

Options :

1. % T, Wit o Fmior oreht fafafeat sFeame § Jife 3 sret iafafai § |

2. ¢ TARI 9gd IR 91631 AT &1 Sie UHfd &t e & e sk ©4 4 fordm o I 5|
3. % gMOT % T R, U8 AR, HADRI & o€ J8YfH U™ R |

4. % JYIARUY, TR0 & o g1 R R I 5

Question Number : 55 Question Id : 25498920884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR H B 9T 9T g8 SdTaT § b uafaRur gAR & o § T gH e 22
Options :

1. % HMq i & e gafaror e Wifds Saasdr gl

2. % g, 9Hg e, e, UgTS g 9gd Q=M UG $Rd g |

3. ¢ TTTaR0T GHAR T J TS TR H o7 3R §UR §1¢ dd gl R I
4. % YR B SR fare iz ysfa & forg Rifaa W) €1

Question Number : 56 Question Id : 25498920885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TGP & IR, Il 3R AT & st 7 3R 82

Options :

1. ¢ JTIGHAT T 8 Tohall & I ATed HH [T grar g1

2. % TIYI 8N W UM T 3Ta<gehdl § T W ! 45T § T RAT arerd 3 |
3. % SrAIfAT MY 1 HUS Wi B AR S A9 5 |

4. % TR S AW gH I AR, Tad ST aRomg g

Question Number : 57 Question Id : 25498920886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P T IR T b TS T I 3 &1 ¥ Add Bl 82
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Options :
1. % UYiaR0] §HR Sid- &1 T SHard fg=am g
2. % gfaRur g fomdt ot aroeft &6t smem fop foeTr, 99 @ UeH wRar gl
3. ¢ 8 UATaRUT & 3T X6 DI HITRAR FHRA1 ATeT Fifds 3T fa-T1 89 Fafg R |
4. % B U N - U & QNI BT R0 R IR T8 T’ H] Bls IBR 81 ¢

QUANTITATIVE APTITUDE
Section Id : 2549895902
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895943
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘What should come in place of the question mark (?) in the following question?

4848 =+ 24 x 11 — 222 =7
Options :
1 ® 200

5 % 2444

3« 2000

1152
4. % 8

Question Number : 58 Question Id : 25498914225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F=af@a geq F 9o ®es (?) & T 9T S o g e

4848 + 24 x 11 - 222 = 7
Options :

| = 200

5 % 2444

3 v 2000
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3
15—
4.% 8

Question Number : 59 Question Id : 25498914270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sum of twice a number and three times of 42 is 238, What is the sum of thrice the number and two times of 427
Options :

1 & 245

Question Number : 59 Question Id : 25498914270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e T & aRE R 42 & @ T F ATee 238 § 36 §EA F A I MR 42 & e
TreTHeT FAT FIET?

Options :

| % 245

5 % 250
;% 264

4 v 252

Question Number : 60 Question Id : 25498914294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8 men can complete a piece of work in 20 days. 8 women can complete the same work in 32 days. In how many days
will 5 men and 8 women together complete the same work?

Options :
» 16 days

1
) x 12 days
3 % l4days
4 % 10days

Question Number : 60 Question Id : 25498914294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

8 IXY TH H w20 GFA F G F FHAS g1 8 Afgenw 36 FI F 32 A F 9w F FHAT g1 3@
FE H U FA H 5 W 3T 8 wieemat v fraer fo s

Options :

| v 16 &=
2w 12 fe
o« 14 R
10 et

Question Number : 61 Question Id : 25498928784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the given information carefully to answer the questions that follow:

A basket contains 4 red, 5 blue and 3 green marbles.
If three marbles are picked at random, what is the probability that at least one is blue?

Options :
7
. % 12

37
7 o 44

Question Number : 61 Question Id : 25498928784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
rafafaT Sl # womgEs T w1 3R A Ry 7w st & sew
T TR H 4 &, 5 &rer 3T 3 27 T F A 2
Iz & AeE IRRos T § IS A1 §, of 56 I H FHEAT F4T § [ FF F FH 0F A9A Aer
g
Options :
i
1% 12

37
) o 44

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 28/39



5/16/22, 3:36 PM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action
5
3 % 12

7
4 % 44

Question Number : 62 Question Id : 25498928900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Evaluate the following expression (rounded off to nearest tens).

23% of 6783 + 57% of 8431 =7
Options :
1. # 6460
2. % 6420
3. % 6320
4. ¥ 6360

Question Number : 62 Question Id : 25498928900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R feu 71 gelieRur 31 57 B (Mdead aRmad RIF a® g HY) |

6783 h123% + 8431 DI 57% =72
Options :
1. # 6460
2. % 6420
3. % 6320
4. % 6360

Question Number : 63 Question Id : 25498929207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What will be the compound interest on X 18,600 for 2 years if the rate of interest is 8% and 15% consecutively?
Options :

1. % %4,499.90

2. %.%4,963.20

3. % %4237

4. %4,501.20

Question Number : 63 Question Id : 25498929207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e <Y Tl & foIg =TS SR HHRT: 8% 3R 15% 81 al 218,600 TR fhaT Tshgi saTe Ut g2
Options :

1. % %4,499.90

2. % %4,963.20

3. % 34237

4. % %4,501.20
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GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549895903
4

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549895944
Yes

Question Number : 64 Question Id : 25498912839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the following arrangement of letters, digits and symbols to answer the question given below:

T9BQ=%25RJO6L3I@YMEG68*+DF4pH7©

In the above arrangement, 2RJL:B=%$5and YE 6 *: 6 3 (@ M in the same wayas? : 8 +D 4.

What is the right option from the following that will correctly go in place of *?” in the above statement?

Options :

1. ¥ D4BO©
2.¥FBHO
3.%D4p7
4. % ~+F4H

Question Number : 64 Question Id : 25498912839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T o7 woa & 3X & & AU 3w, ¥ HR wiaw Fr FafoET w5 aamEs w2
T9BQ=%$25RJ6L3I@YMEG68*+-DF4BH70©

SRFT HSFT H, 2RJL:B=$53T YE6+*:63@MFsaafiTeug :r?:8+D4

F 9= 2

IRFT Fud # FFra@a feear & @ Fi7 @ 2 feg & T W 536 @em?

Options :

1. ¥ D4BO©
2.¥FBHO
3. D4p7
4. % +F4H

Question Number : 65 Question Id : 25498912899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out which of the letter-series follows the given rule.

Number of letters skipped in between adjacent letters decrease in order.

Options :
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action
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1. ¥ AGMRV
2. % HNSWA
3. ¥ NSXCH
4. ¥ SYDHK

Question Number : 65 Question Id : 25498912899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TAT @I {6 D19 Tt sfeR-ofaa feu e fFaw &1 ure i g |
e § Fdead! 31&Rl & ot § Bis T 31&Rl Bt T HH B HH gl ol g1

Options :

1. ¥ AGMRV
2. ¥ HNSWA
3. ¥ NSXCH
4. % SYDHK

Question Number : 66 Question Id : 25498919022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the same as Rabbit, Rat, Mole?
Options :

1. ¥ Mongoose

2. % Frog

3. % Earthworm

4. % Ant

Question Number : 66 Question Id : 25498919022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frafiied & 9 SH BRI, 61, Bhe (HId) & o g2
Options :

1. ¢ Aqa

2. % Hew

3. % g3l

4. % 9i&

Question Number : 67 Question Id : 25498919604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Sweep : Scrub : Wipe

Options :

1. # These are terms connected with rubbing.
2. ® These are games of cards.

3. # These are terms used by motor mechanics.

4. ¥ These are terms connected with cleaning.

Question Number : 67 Question Id : 25498919604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 O Wsal & gaY W Je Ifrd faawur ardt fadhed &1 99 &3 |
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W:W:m

Options :

1. % Jre Rfem) | &fid wee &

2. % APIS FNHEI

3. % Y Hiex U gRT IUTNT fHT ofF aTd) Ueg &
4.« T qBIS T T Teg

Question Number : 68 Question Id : 25498919731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An egg vendor calls on his first customer and sells half his eggs and half an egg. To the second customer, he sells half of what he was left
with and an egg, and to the third customer, he sells half of what he was then left with and half an egg. However, he did NOT break any
egg. If, in the end, the vendor was left with three eggs, how many eggs did he have initially?

Options :
1. % 26
2. % 3]
3. % 39
4.9 33

Question Number : 68 Question Id : 25498919731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T 373 fashdT 3T UEe e B! B BT & 3R ITP U R /S & 70 F ST 373 3R 3MeT 33T 51 a1 8| G TSP b,
IE Y 2 gU 37T & M8 3R T 3T 9l 5, 3R AR A6 D, 96 IV 9 gU SiST & oMY SR e SiST S7rdl | gretifes, I
Tt oft ofS &1 =18Y et afe, sid B, faorar & o <fiF oS 59 9 €, dl ToaiTd H SH% U fara ofS &2

Options :

1. %26

2. % 3]

3. % 39

4.9 33

Question Number : 69 Question Id : 25498919882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different.
Choose out the odd one.

Options :

1. # Beaker
2. % Glass
3. % Mug
4. ¥ Saucer

Question Number : 69 Question Id : 25498919882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 fareul # TR e faU T & foH @ dF f5e UepR 3 Uep W 8, Safe U 372 fie 81 39 i Wee b1 Ugar 31|
Options :

1. % i

2. % N

3. % |

4. v FRR
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GENERAL AWARENESS

Section Id : 2549895904
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895945
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In India Gold is mainly found in gold fields.

Which of the following will be the correct option for the above blank space?
Options :

1. # Panna

2. % Katni

3. % Kolar

4. % Khetri

Question Number : 70 Question Id : 2549895318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

YRA 9T (Tes) T U 4 & (e Wicgy) ® U S g |
IR fead ®IF & for Fufafad o @ 19 el fadwe g

Options :
1. % TdT
2. ® Pl
3. ¥ BIAR
4. % Qdst

Question Number : 71 Question Id : 2549899642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In India, service sector includes:

I. Mining and Quarrying

II. Transport and Communication
II1. Hotels

IV. Forestry and Fishing

Select your correct answer from the codes given below:
Options :

1. % Only Iand II

2. % Only Il and III

3. % Only [T and IV
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4. % Only Il and IV

Question Number : 71 Question Id : 2549899642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR H a1 &7 7 Faferfad it g

L. T 3R I

11. URagT 3R TowT

1L glcd

V. T I 3R 7S UbeT

e faT U DI T T IR BT T B
Options :

1. % a1 3R 11

2. ¢ Had 11 3R 111

3. % Had [11 3R 1V

4. % HIA ARV

Question Number : 72 Question Id : 25498929745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Chlorobenzene when condensed with chloral in the presence of conc H,SO, yields:
Options :

1. # Gammexane

2. % DDT

3. % TNB

4. % C6Cl6

Question Number : 72 Question Id : 25498929745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

W9 FARSS B % 1,50, BT SURI H FAR b T Fud foba Sirar 2, ot et wifey et 22
Options :

1. % e

2. DDT

3. ¥ TNB

4. % C6Cl6

Question Number : 73 Question Id : 25498929753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The nucleus of an atom consists of:
Options :

1. # electrons and neutrons

2. % protons and neutrons

3. % electrons and protons

4. % electrons only

Question Number : 73 Question Id : 25498929753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T URHA] & 11 H M Bl
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Options :
1. % ZAF 3R G
2. ¢ e 3R Y
3. % gdagH SR Ui
4. % Faq gadeH

Question Number : 74 Question Id : 25498931993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The UN Climate Change conference was organised in Bali from 3 December 2007 to 14 December 2007 for 12 days in which 1000
people participated. Bali is situated in:

Options :

1. ¢ Indonesia
2. % Malaysia
3. % Morocco
4. % China

Question Number : 74 Question Id : 25498931993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

et | 3 faiaR 2007 ¥ 14 fadaR 2007 a6 12 3T & forg Wge Y Sierary URad= S-Ia BT e fodm 1 4T, 38 1000
T = YT form T SR A fREgl

Options :

1. ¢ SSHRMT
2. % HAfRmn
3. % ARG
4. % 94

Question Number : 75 Question Id : 25498935151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements correctly describes the fourth schedule of the Constitution of India?
Options :

1. % It lists the distribution of powers between the Union and the States.

2. % It contains the languages listed in the Constitution.

3. % It contains the provisions regarding administration of Tribal areas.

4.+ Tt allocates seats in the Council of States.

Question Number : 75 Question Id : 25498935151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

TH q D I HYT YR P WAUT Bt Al ST &1 Te! 90 Hal 82
Options :

1. % 3O Y 3R 0l &b e wfFmal o faavo Wy fhar mr 2|

2. % 3O Ty & Yelag YT aftfd g1

3. % SOH ST & & TR 9 Heifdd urau feu e § |

4. ¢ A ISTIHT (Council of States) 7 il BT 3de fHar Tar 3|

English Mock
Group Number : 2
Group Id : 2549893693
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Group Maximum Duration : 5

Group Minimum Duration : 5

Show Attended Group? : No

Edit Attended Group? : No

Break time : 1

Mandatory Break time : Yes

Group Marks : 0

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
English Mock

Section Id : 2549895905

Section Number : 1

Section type : Typing Test
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Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549895946

Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498941039 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.
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Show Error Count : Yes
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Show Back Space Count : Yes
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English Typing Test
Section Id : 2549895906
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895947
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498937902 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

All of us do some kind of work to live a comfortable life and to gain sufficient material wealth. This work is carried out with a
view of maintaining the standard of living which our physical and intellectual powers have helped us to attain. But there is
another kind of work which is completely divorced from the burdensome process of our livelihood. A work which is undertaken
for the sake of amusement or interest or to direct our surplus stores of energy in some new and useful channels of refined tastes.
This delightful occupation that combines work with pleasure or hobby as it is properly termed calls for the use of our highest
sensibilities. It gives proper form to our healthy instincts and disciplined behaviour. In our carefree and vacant time it allows our
senses to perform their natural functions and to display their instinctive greatness. We devote our free time to the pursuit of this
pleasant task and gain advantages. The benefits of pursuing a hobby are more soothing than those which we obtain from the
bread earning routine of our daily life. Hobbies widen the sphere of our cultural activities and show us the path that leads to our
overall mental and moral development. Our tendencies and inclinations also find in them an outlet for a healthy and progressive
expression. A hobby is a favourite subject or occupation that is not a main business. This age of machinery has taken upon itself
most of the hard duties of physical work formally performed by man. In the absence of exhausting physical work it should not be
difficult for a person to devote some time to the pursuit of a new interest that can add some charm to his life. The spare time
must not be wasted away in idleness or spent on such work which burdens a mind and body after one has performed one has
normal functions for the day. The occupation banishes the dullness of routine work and produces a feeling that life is both
charming and meaningful. The choice of hobbies is like the choice of books. It is not an easy task. Some hobbies demand a little
guidance from some experienced individuals. Our sudden attachment to them without the backing of some basic knowledge may
result in wasting of our resources of time and money. In the end we may be compelled to abandon them. Some hobbies are rather
expensive and therefore beyond the means of ordinary people who cannot spend large sum of money on them. Also a few are
incompatible with our mindset and taste. We must not allow the glamour of certain hobbies to blind us to their reality however
tempting they may appear to us. Neither should we begin to cherish them thoughtlessly because we find other people so devotedly
attached to them. In the first flush of enthusiasm many have rushed into unsuitable hobbies only to find themselves turning away
from them in a state of great confusion. In a few rare and exceptional case a sudden and instinctive choice of some hobbies
sometimes proves to be the right one. We must not forget that tinkering with a hobby is a joyless and wasteful process. Scattered
interest in half a dozen or more odd hobbies is also not a desirable end.
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Question Number : 78 Question Id : 25498944388 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

TS IR 3! 914 3, HaR AR faa RreR w® o137 A1 3nft 7o aag 3 3% ue v fawn| segarit # &k Aarad gu
PR YA §TY TR °UTT AT 9T1 34 FTATd $S U & B 3PHaR 95 go H AT R A H i
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Section Id : 2549895908
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Section type : Typing Test
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Question Number : 79 Question Id : 25498944389 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None
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